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This question paper is for

Part Il — Scholastic Aptitude Test.
Time allotted to answer the
questions in this part (91 to 180) is
90 minutes. Marks to this part is 90.

Answers to this part to be shaded
in the appropriate box in the
“Part-ll Scholastic Aptitude Test”
portion of the answer sheet in
which answers for part-l have been
shaded, using Blue/Black ball point
pen.

Write your Roll Number (Centre
Code No. and SI.No.) very clearly in
the question booklet (Only one
digit in one box) as given in your
admission card

For example, a student appearing
from Centre Code No. 0102 with
SI.No. 006 will have to write the
Roll No. as follows.

Roll No.
Centre Code No. Si.No
0/1lo]2 0/0/6
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Other Instructions

Read Carefully

. Write only candidates Name and

Roll.No. in the space provided in the
Answer Sheet and affix your
signature.

. All questions are compulsory.

Since the time allotted to answer is
very limited, you should make the
best use of it, by not spending too
much time on any one question.

Choose the correct answer from
the options given for each
question and shade the
corresponding box with blue /
black ball point pen, in the answer
sheet.

In the Answer Sheet if you shade
more than one answer nhumber or
if you overwrite or delete the
answer number, no mark shall be
awarded to that answer.

. Two blank sheets have been

provided at the end of the question
booklet. Use it for rough work.
Answers on these pages will not
be considered for Vaiuation.

in future for correspondence, if
any, quote your Roll No.

(Centre Code No. and Serial No.)
without all.
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This booklet contains qusstions as given below:

um_sisst / Subjects

 § smﬂgm} Mathematics
Mhued / Science

3. 5@5 Sifiefush / Social Science

) eflemasaerd Qarsm_gi
afisor sremraseir /Q.No.s
pHa QUSBIY
81 10
n 145
148 i8C
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ssmfigin / MATHEMATICS
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() B© Gue sramaafisn 5. Gz RG
Bhwisd svevar.

(2 @\m Ay sreraeflsir s B0
S af\EGppT srevr.

() @@ Bweb srsvoraaflsir HLHSSN R
Bhieh sTavoTsTITSGR @) SESLD.

@ B© NAsup semsafier &5z
S aflSlspm srer.

Qumsselsh Crmomy @sdeorg eTenor.

1 -5
(3) 0

1
2 - s
@1

B Afsyp aansEnsE Senulh
2 siTew afdswn srevoTasefleaT
srevoTemilS omes.

(12 ()0

33 (4) BsUGLIf srewrsnlldams

a®=(4)" ereofled a =
(12
(3)4

(2)-2
(4) 16

143454+ T+ curueens
(1) 50°
(3)49

+99 =
(2) 517 i
(4) 100?

S0 s CuoiiCstremflstr auiéa epsold
255 aanefiemsr oL Qufiugrs
SIEDOESTS) b 6Tev

() -5 Gopars Sbag sulns QHEEH
e

@ b Quiigrs Qméei.
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91.

92.

93.

94.

9s.

96.

Which of the following statement is

incorrect

(1) Sum of two natural number is a
natural number.

(2) Sum of two rational numbers is a

rational number.

(3) Difference between two natural
numbers is always a natural
number.

(4) Difference between two rational
number is a rational number.

Which of the following has no
multiplicative inverse?

@ -5 @ —-;—
@) 0 @1

The number of rational numbers

between any two rational numbers is

12 ()0
3)3 (4) Very large
Ifa®=(4)*then a=

1)2 (2)-2

3)4 4) 16
1+3+54+7+ ceueeen +99 =

(1) 50° (2) 512

(3) 49* (4) 100*

The square root of a real number is
greater than that number then the

given number is

(1) less than or equal to 1
(2) less than 1

(3) equal to 1

(4) greater than 1
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98.
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100.

101.

102.

4
19* erstrugsir aflfleuréeSEed 1-Lb 97.
@SS yminLld Qeaseid
(18 (2)6
39 @1
98.

(~72E + 2 )@ SppsTOITE GlETeTL. STe

o L&Camsmn]  u@Hulsir  aulL Sl

.
n1 @)r
32 4)4

Spéargyih s hpisefls g gaiprearg) ? 99.
(1) Qs PSCaHTEITIPLD @( LIS
CamemrLom@Ld.
(2) Qs FLULES (PSEETTTPD G
SUriiE LOCSTSTLOMGLD.
(3) @suQeur(y QFsisuEs G L
GamsueTLom(GLD.
(4) gRGarE sMLEGITWD GG FUWLG
uev GemsuTLom@GLD.

Q@ U_uTerg Sorailiugd, &G 100
FgrsEsar G  gjminbgieTeng  Gumed

o frogl opor LSSt  efilid
EGITSHSietr L&SSGIL 60T aflurs
Qurphgiory! 2 6EM S 3|60
su;.'_l_ﬂugﬁuils&r Qymd r erefled L Gelsir
S{DpeTaY.

(1) mr + 6r (2) nr + 8r

(3) nr +4r (4) mr + 3r

Spserguh g GOsreld G 101
p&CamansHer UbsHsSTS BHSS
@uweorgi ?

™5,5,3 2)3,4,5

3)2,3,6 45,57

R BHSTSSmET L GODhES U5 162.

Gzemeu

() 3 usshiseT, R epsnsoailLLb
(2) 3 ussnussi, @ Caremd

(3) 4 ussRISBET

@) 4 usanissT, G GameTD.
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The digit in the unit place of 19% s

1) 8
3) 9

2)6
@1

The radius of a circle whose quadrant

perimeter is (% +2),is

)1 @)r
(3)2 44

Which of the following statement is

incorrect.

(1) Any triangle is a polygon

(2) An equiiateral triangle is regular
polygon.

(3) A rectangle is a polygon.

(4) A rhombus is a regular polygon.

In a figure, a Square is surmounted by
a semicircle, if the radius of the semi
circle is r then the perimeter of the
figure is

(1) mr + 6r
(3) mr + 4r

(2) r + 8r
(4) nr + 3r

Which of the following sets of sides will
not form a triangle?

2)3,4,5
45,57

Which of the following is essential to
draw a quadrilateral?

(1) Three sides and one diagenal

{2) Three sides and one angle

(3) four sides

(4) four sides and one angle.
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104.

105.

106.

107.

108.

109.

110.

Slpsrausnausefist gs FmOIIY Cammey
LT

(1)§+3 @) x+2

@) x-7 4)2x-1

L\ iews srevoraetiehn s (OEHQID 260
Qumpasgih swiomiflssr Djeeslg, sTaiorasT

11,4
(34,4

2)3,3
42,2

SlpsamenLiensaueafish 6T esirLn)
Slsve ?

(1) (a + b)? = a’ + b? + 2ah

(2) (a-b)*=a’+h?- 2ab
3)(@@+b)(a-b)=a‘ -1’
@(@+b)y(a+b)=5

13" =169 ereufled x =

12 2)13
3)3 1
(.92 + (. 1D)*+2(.09) =
1.1 2.9
32 41

(x*+6x+9)=(x+3) (x —a) erafled a
STEETLIGH

(1)-3 2)3

(3) 2 4) -2
(ax’ + bx +¢) = (x - 4)(2x + 5)
eTeuflsd b =

1-3 2)3
3)7 4) -8
L= 0 eTetTUSDE (X @ GLoiGiuiesor)
X

() 8@ Siey 2 aw@®

(2) Sirey HewLwimg

(3) 2 Sireyssir 2_suoT(H!

@ sisiorar Sitaiser o el
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Which of the following is not a
binomial?

R
X
B)x-7

Q) x+2
4)2x-1

The sum and the product of two

positive numbers are same. The
numbers are.

1,4 2)3,3

(3)4,4 42,2

Which of tiie following is an equation?
(1) (a+b)’ = a’ + b* + 2ab

(2) (a —b)*=a’+b*- 2ab
B)@+b)(a-b)=a’-p’

4 (a+b)(a+b)=5

13* =169 then x =

(1) 2 (2) 13
(3)3 @1

The value of (.9)* + (. 1) + 2(. 09) =
1.1 (2).9

(32 @1
(x2+6x+9)=(x+3)(x—a)thenais
1) -3 )3

(3)2 @) -2

If (ax’ + bx + ¢ ) = (x - 4)(2x + 5)
then b =
1)-3
37

23
4)-8

1 =0 has (x is a real number)
X

(1) one sclution

(2) two solution

(3) 2 solution

(4) more number of solutions.
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6
oyfieflie) - SCIENCE
gflwmeer GUITHSSLD 111. The Correct match of the following is
BLILITEET Q16m& 6T —@-551——@ Type of irrigation Example
i) G566 i - A) Glped auwed i) Furrow - A) Paddy
fpritiurgerid irrigation field
ii) SmeeumilLi - B) &y ii) Basin - B) Sugarcane
LIT&6uTLD irrigation
iii) Qgefliy - C) SHymiems iii) Sprinkler - C) Grapes
Britiuresemd irrigation
iv) Gem’ @ - D) yegemr iv) Drip - D) Lawn
Eritiuresmb irrigation
1)i-C, ii-B, iii-D, iv—A ®)i-C, ii-B, iii-D, iv-A
(2)i-A, ii-B, iii-D, iv-C (2)i-A, ii-B, ii-D, iv-C
3)i-B, ii—-A, iii—D, iv—C ()i-B, ii-A, iii-D, iv-C
(4)i-B, ii-C, iii-A, iv-D @i-B, ii-C, iii-A, iv-D
LD UMSS STOUNTAISEESE TOSSISSM_ 6 112. An example for leguminous planet is
(1) ulrmesfl (2) Giped (1) Pea (2) Paddy
(3) Gamgismio (4) Gamemd (3) Wheat (4) Maize
s waflsmseE austisds ammiGLomesr 113. In adults, excess secretion of growth
S| HSLOTE ST S(GLOTEITITED ©_GHITL TEUT;. hormone leads to a condition called
() Gererdgeimemn  (2) susmiSleng wmHLd (1) Dwarfism (2) Metabolism
©) 21&CrmGlwaTs  (4) Smini (3) Agromegaly  (4) Goitre
Slpaaeuor_supiiisd Geupmeer s My 114. The incorrect statement with respect to
() WEsemessT @namm ClFsisme gy sTane fungi is
iG] LRGFHSETE) Qyeweveal. (1) May be unicellular or multi cellular
2 @aupflsd LFMEWILD 2 ETETHITED BHLO&EEGS (2) Have chlorophyll and prepare their
GCoemauLimer 2_sremeu STGLo SwMflEHs own food.
g, Fops (3) Their body is made up of hyphae
&) @mm!ﬁlm. i ‘“"—9355]“:“-“ STEOTERILD called mycelium
soapLursseaflsr GFrELuTs gyerg. (4) Reproduces by sexual or asexual
(4) umeblewr, oI LimsSlevm (emmesarflsh method.
Garitumssn Cslfng.
USEnLo TDTS PGS STaund 115. The evergreen ornamental plant is
1) eLicrsn 2) ndlgw 1) pinus 2) Ephedra
Jfriin 4) oyr5Gaifhum 3) Gnetum 4) Araucaria

388/116- 6



7
116. &iGsmrSEsmTan Qeusanrers 116,
MDD EG) SMTLIET—6mL_~ 2y SenesnL
CeuafiuliGud Haipay
() gafl&Caidoms (2 Liursssi QLD
() CETSSge (@) £ Sishpize
gfwrer GUTmSsi
117. 117.
GrEmiigsir LITeLD eLpsuMiss6ir
i)  ememm - A) Cpmps
Ggm_iy
ii) @ soren - B) smukissr
i) edlsasmiises - C) oyEssuwmer
B
iv) GgmyGemi - D) elakEsafsr
St
(Mi-C, ii-B, iii-D, iv-A
@i-C, ii-B, iii-A, iv-D
3i-D, ii-B, iii-C, iv—- A
4i-B, ii-C, iii—D, iv—-A
118. uweflg 2 L infleb smewriiLL & tpwi ifls 118.
Bemomsr sTgyiibyy
() smeor srguiny  (2) QzmemL sT(LgLDY
(3) Lomiy sTgyithy (4) wsvTeL QLB sTRIDL
119.  &flwrer Qur@Ssio 119.

&lreu el M6 SIh&gIsEsm {

i) ubgflemeor - A) ke

(M0
ii) &o e @ - B) smssTH
STEUILDLY
iii) WSS - O) sybgl st
epC@® 6TEYILDL

iv) yosTepl® - D) @Gy sTgunby

1i-B, ii-C, iii-D, iv—-A
2i-C, ii-D, iii—B, iv—A
Qi-A, ii-C, iii-D, iv-B
4i-D, ii-A, iii-B, iv-C
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The conversion of sugar solution
into alcohol with the liberation of
carbon-di-oxide is known as

(1) photosynthesis (2) canning

(3) Fermentation (4) Dehydration

The Correct Match is
Diseases Modes of

Transmission

i)  Cholera - A) Contact
(Vector)

i) Tetanus - B) cuts and
wounds

iii) Leptospirosis - C) Contaminated
water

iv) Leprosy - D) Contact of
animal’s
urine

(1)i-C, ii-B, iii-D, iv_A
2)i-C, ii-B, iii-A, iv-D
@3)i-D, ii-B, iii—-C, iv—A
@4 i-B, ii-C, iii—-D, iv_A

The largest bone of the human body is
(1) Scapula (2) Thigh Bone
(3) Sternum (4) Cranial Bone

The correct match related to synovial joint
is

Svynovial Joinrs Example
i) Ball and - A) Elbow
socket joint

ii) Hinge joint
iii) Gliding joint
iv) Pivot joint

B) Tarsal Bones
C) Atlas and axis
D) Hip Joint

(Mi-B, ii-C, iii-D, iv_A
(2)i-C, ii-D, iii-B, iv_A
@B)i-A, ii-C, iii-D, iv_B
@4 i-D, ii-A, iii-B, iv_C
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UTGIS TS,

(2) @iSwireilsh Hemsoiwireor &moush
SIODEDIL 2_(FeuTSSeurmT
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The continent in which the cape of Good
Hope located.

(1) Europe (2) Africa

(3) Asia (4) Austratia
Fore-Runner of Akbar

(1) Humayun (2) Babar

(3) Hemu (4) Sher Shah

Who was clled as ‘Deccan Ulcer”
(1) Sivaji

(2) Afsal Khan

(3) Sayistakhan

(4) Dadaji Khonda Dev

Treaty of Srirangapatnam signed on
(1) AD 1779 (2) AD 1797
(3) AD 1792 (3) AD 1795

Subsidiary Alliance was introduced by
(1) Lord Canning (2) Lord Cornwallis
(3) Tipu Sultan (4) Lord Wellesley

According to charter Act the trading
rights of the East India Company
extended up to
(1) 20 years
(3) 22 vears

8 years

@) 18
{4) 21 vears

1
2

Which of the following in not Lord
Warren Hastings reforms
(1) passed Bengal Tenancy Act in 1822
to protect the interests of the tenants
(2) Created a permanent police force in
India.
(3) In 1817 a College was opened in
Calcutta,
(4) Published the first vernacular
newspaper called of ‘Samachar
Patrika’



120.

121.

122.

123.

124.

125.

126.

127.
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() epsussen gl @ o
(3) opwienfl (4 Gaiotb

yefufls gifle jeralsh o 6Ter geuflLod

() Siifiesflwin (2) Hedl&amebr
(3) @iy (4) 2yserblggtr

BEE60 GMBSMS HSSLONGS muSHEES
LIGBTLIEMD sumL

() snauLggsdr (2) @Gemmflsir

(3) gy Serdlagsir (4) sopL_ragstr

Syreaflé sreirm geaflugder GG
M)A (2) As
(3) Ar 4) Ac
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060 Hodmn o
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(3) epsirg QST SIS
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The outer layer of a bone is called

(1) Bone marrow (2) Periosteum
(3) Tendons (4) cartilage

The air pollutant, that reacts with
haemoglobin in human blood and gives
carboxy haemoglobin.

(1) Carbon monoxide

{2) Carbon di oxide

(3) Nitrogen di oxide

(4) Sulphur di axide

The addiiion of hot water fo water
bodies upsets the natural cycle. This is
called

1) Land pollution

(2) Thermal Pollution

(3) ozone depletion
(4) Air peilution.
. The smaliest particle of an element is
(1) Molecule (2 Atom
(3) fons {4) Compounds

. The most abundant element present in

earth’s crust is
(1) Aluminium (2) Silicon
{3) Iron (4) Oxygen

The gas which helps to keep swimming
pool clean is
(1) Hydrogen (2) Chlorine

(3) Oxygen (4) Nitrogen

The symbol for the element ‘Arsenic’ is
MHA (2) As

(3) Ar 4) Ac

A molecule of ozone consists of
(1) One atom of oxygen

(2) Two atoms of oxygen

(3) Three atoms of oxygen

(4) Four atoms of Oxygen



128.

129.
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&L SiGHOTEUOTITLOL| 6T6OTLIG]

(0 ereodlid gy sl GGsrranr(H
(2) srofiud snaml rréEamen(
(3) srsbdlwid smuGserm_

(@) s gy smen

Gamgiuitd smu SmTLIGSTL. eTedTLIS6bT
QumrgIGLwT

() Q& Gem_m
(3) Fovemeu Gamm

(2) Gusdik uayLiT
(4) FvemeuGSGmeT

wrpr eflélg efl Sl augriidhusurt
() sgebrL_mebL_dr

(2) QLorifligiwei

(3) Cegmah oirufl LiCyamaivL

(4) somsurdhurt

LGy renser setmr (B g Seurt

(1 Cgp.Ceg.smbssar

(2) ggmisg ggmsir sruGe_rredr sruGLmenfl
(3) Gaimebi_sivLestr

(4) sgmetTi_mebL_6ar

LS E6TTLQUDDIST SEUDKET Sl

() rfmfsraumiisagiiadr CriGsm e
Ehwiki@ Sstrpeor.

(2) sr@mflsiroumiié siTasT [FHenm LHEILD
Pués gyoogenw Guflu gissrasflsrTe

SLSTEME
(3) sréhimflstreumil ST 6T SMHSLIVSSTEL
efleussELoemLelsoTmeur.
(4) srfimflstroumiiés sliaeT 2_srefl(p&E1o
sumyeSlsir GoenLd FMHSS! J|606V.
gflwrer QuT,SL
guflngelstr Gl [EO)]
i) Sl - A W
ii) Geusirefl - B) Hg
iii) L rasroLsor - O Ag
iv) Qurgfl D) Au
@i-C, ii—-A, iii-B, iv-D
Q)i-B, ii-C, iii-A, iv-D
@3)i-D, ii-C, iii-A, iv-B
@i-D, ii-C, iii — B, iv—A
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Quick lime is

(1) Calcium oxy chloride
(2) Calcium Hydroxide
(3) Calcium carbonate
(4) Calcium oxide

The common name for

‘sodium bi-carbonate’ is

(1) Baking soda  (2) Baking powder
(3) Washing soda (4) Bleaching powder

Law of definite proportions was
proposed by

(1) John Dalton (2) Democritus
(3) Joseph Louis proust (4) Lavoisier

Proton was discovered by
(1) J.J. Thomson

(2) Goerge Johnstone stoney
(3) Gold stein

(4) John Dalton

Which of the following statement is

incorrect regarding properties of

cathode rays?

(1) Cathede rays travel in straight lines

(2) Cathode rays are made up of large
particles, has mass and kinetic energy

(3) Cathode rays are deflected by
magnetic field.

(4) Cathode rays depend on the nature
of the gas inside the tube.

The Correct Match cf the follewing is

Name of the Svmbol

g element

i) Gold - A W

ii)  Silver - B) Hg

iii) Tungsten - O) Ag

iv) Mercury - D) Au
MNHi-C, ii—-A, iti — B, iv-D
2)i-B, ii-C, iii — A, iv-D
3)i-D, ii-C, iii— A, iv-B
@i-D, ii-C, iii — B, iv—A



134,

136.

Y
L
..J

138.

10

Qizel G Fomed, smuft whgrd o GEL
uefldal iy gydlu epsirgid soflsnsoued o srer
Geutiuflemso

{0 Bistr Garglflsmse
{2) Biflstr 2_sm Flemsv
(3) Biflstr piiysirsifi
(@) gof&afaiuflsme.
. gefiéaf Qauliufismeo 135.
(1) 273°C (2) —273°C
(3) 100°C (4)0°C
afiumse GlUTESSID 136.
D|emey SI_aygi
)  Geluflees - A) Gaemgeor
i) Qumgmeflsor - B) Qasailer
S|may
iii) @ofl&Gsdsy - C) Gume
iv) [Hemm - D) &Ger Hgmb
(H)i-B, ii—-A, ii-D, iv-C
2)i-C, ii—-D, iii-A, iv-B
3)i-D, ii—-B, iii-C, iv-A
@)i-B, ii-C, iii-A, iv-D
s Gosams apausbsmipuis umilsr 137,
Siraud Prbfuysreng. Qzmipufsr 2 wmb 248
umilefidr LisH 800 H.ANE. ysfmiiy
yhsssHdr  wHiy 10 aard
QsrerLmey, GG ipullstr ojiptiiGSilsh
SlpSslb eressusTey @lGEGH ?
(1) 16,000 N/'m*>  (2) 160 N/m’
(3) 400 N/m? (4) 4000 N/m*
ysflullelpig @@meut Gl Gshnsbsss 138.
susfiosiTL e SSSSSHT JjsTey
0 gfefcdng  (2) empépg
(3) sfurdpg (4) wrlsdlwms 2_sraTgl.
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The temperature at which saturated
water vapour, pure water and melting
ice are all in equilibrium is

(1) Boiling point of water

(2) Freezing point of water

(3) Triple point of water

(4) Absolute zero

Absolute zero with respect to
temperature is
(1) 273°C
(3) 100°C

(2) -273°C
(4) 0°C

The Correct Match is

Quantities Unit
i) Temperature - A) candela
ii) Amount of - B) kelvin
substance
ili) Luminous - C) mole
intensity
iv) Mass - D) Kkilogram
1Hi-B, ii—-A, iii-D, iv-C
2)i-C, ii-D, iii—-A, iv-B
@3)i-D, ii-B, ii-C, iv-A
@i-B, i—C, iii-A, iv-D

A rectangular storage tank is filled with
paraffin. The height of the tank is 2m. If
the density of paraffin is 800kg/m’ and
the value of ‘g’ is 10 N/m?, then the
pressure at the bottom of the tank is?

(1) 16,000 N/m>  (2) 160 N/m’ ”
(3) 400 N/m’ (4) 4000 N/m’

As one goes higher and higher above the
earth’s surface, the atmospheric
pressure

(1) increases

(3) becemes zero

(2) decreases
(4) becomes constant



139.

140.

141.

142.

143.

Qarhallmsse i TOSsSsm_H

() Sy srdlssgsmmBiser Sl
FiSSLILGHS0

2 B smMzhsERSE @amLCL 2 _srer sflens

@) Ggstremer LSS0l mHs Caismi ol

(4) sTemesSih auetTipuilsir FHEETSHHGID
BlewL_Guw a_srer 2_miiey allsne

susmflosiT_6 9yUSSSMmS JieTdoLl
LILsITLIEID S(med

() oo (2) Goumeb_ i L.
(3) ummomesf] () Briomsef)

JCB Geusmsv Gleninth s&gI0l0
(eiorCgmaimmp)

(1) umuies a9l

(2) smiasi a9é)

(3) umsvaed aflg

(@) Bl L evflstr el mitiyedd)

WstrsLSam QUITEEESE TOSSIEsM. 6

() emdeiti @) sLaf
(3) sursmeveuip Bt (4) Semrmm; B
giflwmsor GLUmmSSin
Wlstr pL&flsor Gl - LILIgBTLY
i) @Gymbund - A) oneflwukiflssr
2 Garsgsmst
etry, &
ii) Oeueraflifles - B) mssspsmi
Blsbryy & ,
i) ghs yomd - C) @Gefluasmp
GPmiiser
iv) flsse womd - D) emiuml@
Gusmauile
LwissTUEID
Qum(pLasir.
(Hi-¢C, ii-D, iii-B, iv—-A
2)i-A, ii—-B, iii-D, iv-C
@B3)i-B, ii-D, iii-A, iv-C
4)i-A, ii-C, iii-D, iv-B
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An example for contact force is

(1) a comb attracting bits of paper

(2) attraction between two magnets

(3) falling of a coconut from the tree

(4) Friction between the road and the
tyre of a car.

The instrument used to measure the
atmospheric pressure is

(1) Ammeter (2) Voltmeter

(3) Barometer (4) Hydrometer

Earth excavaters (JCB) works on the
principie of

{1) Boyle’s law

(2) Charle’s Law

(3) Pascal’s Law

(4) Newton’s law of gravitation

An example for poor conductor of
electricity is

(1) Pond water
(3) Distilled water

(2) Sea water
(4) well water

The correct match of the following

Name of the
plating
i) Chromium
plating
ii) Silver - B)
plating

Uses

A) Automobiles

watch cases

iiiy Gold plating
iv) Nickel

C) Bath taps
D) tableware.

plating
Mi-C, ii-D, iii-B, iv—-A
2)i-A, ii-B, ii-D, iv-C
3i-B, ii—-D, iii-A, iv-C
@i-A, ii-C, iii-D, iv-B
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144, Qumgyeirasr Wsirgn’ L b QumbCLme) e
Curaeflsblawhg) HGonrm QurmEnse

144. During the process of charging, which
particle gets transferred from one object

WMDOUILGLD GissiT to another?
() erslymerast  (2) UGy L meiraseir (1) Electrons (2) Protons
@ Pulowsrsst  (4) ojEmibssiT (3) Neutrons (4) Atoms
145. Biswrsareh gmiilsniu setr @ Ssaut 145. Lightning arrester was invented by
{1 Gugpendlstr Lymissefisor (1) Benjamin Franklin
(2 Cegidsiveum’ (2) James watt
(3) gmieR emerLashr @id (3) George Simon Chm
(4) smw&Ga6h LMGL (4) Michael Faraday

geys jfledlwsd / Social Science

146. sy QurgpSsin

e

146. Find the Correct Match

iy Ooua - A) Sleurefl- i) Inchargeof - A) Piwant-i-
Qurgiuremt @-Estragm . Income ln.sha )
ii) @W@jw - B) Seurefl - ii) Incharge of - B) Dzv.vant-l-
QumiiLmer G-y fisia Army Arish
iii) Qeusflypey - C) Seursf- iii) Incharge of - C) Diwan-i-
il ¥ ey Ambassadors Wizarat
%‘Tﬁﬂ‘ﬁfu : e Ll and Lnvoys
R Ao iv) Incharge of - D) Diwan-i-
iv) Symewser, - D) Harsfi-G- Royai Rasala
S @rremang Proclamation
CursGaTSa! and
Gumprmaint dispatches
()i-¢, §i-D, ii-A, iv-B (i-C, &-D, iii-A, iv-B
@i-C, ii-B, ii-D, iv-A @i-C, ii-B, iii-D, iv-A
@G)i=-D, "ii-C, iii-B, “iv-A @)i-D, ii-C, iii-B, iv-A
4i-B, ii-A, ii-C, iv-A 4)i-B, ii-A, iii-C, iv-A

sarepamener GunmiSa Spssmgmi

s pisefleh g Saum),

() L& smenldr Qoraurat

) m=bur uBSmwus st

(@) paler gasmnu eapulls SEms

{8 Cengggnt meumb Cismaim(R
wuSisorsams o_(meurd S,
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147.

With respect to Shahjahan which

of the policy is incorrect.

(1) Prince of builders

(2) Build Jama Majid

(3) Father of Modern Currency

(4) Peacock throne with Kohinoor
diamond.
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151.

152.

153.

154.

EHINEmS (ST S|EMLBSIETET SemorLLb
() gGrmiumr ) gynIfssT

(3) gy Fhwr (@) Sy s Credlm
S|&uifletr (psirGermg. sTewT
SjemyssiuGiusuT

() 2-iomyl,sbr (2) umurr

(@) Gane (4) Gepiagm
“géamevar Lihgy Gmi”’ srauTCILIC L eurt

(1) isurgd

(@) oEETsT

(3) QeullsroL_smedr

@) srgre) G, Gge

&imugLiuL g eor JjsnLg RULBSL
smaGumiILILoTenT 2y 65075

() &9, 1779 @) £.9. 1797

(3) .9 1792 (@) &.5. 1795
gissmiuenL & S L Sens epLOSSuaut
() smeeflds Sy (2) smystreumedlsio L9y
@) Sy sz (4) CQlausdGlsusivedl Ly
Ul SULSEHeT Lp Qphiflens

SysSpdus snbusfulisr aflwmumy
2 fflotd

() 20 oyenBEEHEES BessiurL gl
() 18 TS EHES FipSSULLL G

@ 22 g ETHEEDSES fipssiulL gi
@ 21 yFTREEHEES BpssiulL gl

Spsangid SEGSSmssilen g

Camshuighis STEmSsin ysvev.

() 1822—-6h uusTaTS GHSSMSF FLLHMS
BenpCaup efeugmilsefisir posmsors
UTGISTSST.

@) @pHumalsd [Hensowime siTaisd
SIHDENLL 2 (HeuTSleoTmT

(3) 1817—-6b Hev&sSSTRNE (m SHeo@mTlemiui
BgeNeormr.

(@) ‘sur&emt uSSfsHms’ srer

Qalihggmer Geusflour smyswnons
@obemt
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The continent in which the cape of Good
Hope located.

(1) Eurcpe (2) Africa

(3) Asia (4) Austratia
Fore-Runner of Akbar

(1) Humayun (2) Babar

(3) Hemu (4) Sher Shah

Whe was clied as ‘Deccan Ulcer”
(1) Sivaji

(2) Afsal Khan

(3) Sayistakhan

(4) Dadaji Khonda Dev

Treaty of Srirangapatnam signed on
(1) AD 1779 (2) AD 1797
(3) AD 1792 (3) AD 1795

Subsidiary Alliance was introduced by
(1) Lord Canning (2) Lord Cornwallis
(3) Tipu Sultan (4) Lord Wellesley

According to charter Act the trading
rights of the East India Company
extended up to
(1) 20 years
(3) 22 vears

(2) 18 years
{4) 21 vears

Which of the following in not Lord
Warren Hastings reforms
(1) passed Bengal Tenancy Act in 1822
to protect the interests of the tenants
(2) Created a permanent police force in
India.
(3) In 1817 a College was opened in
Calcutta.
(4) Published the first vernacular
newspaper called of ‘Samachar
Patrika’



155.

156.

157.

158.

159.

169.

161.

162.

163.

(3) £1.19. 1668

ysoflg sgmieh Gam_smL &L L1 gy et
(1) &.9. 1639 2) 6.19. 1640
(4) #.19. 1669

BrRUSTImNS Siipw Hemusniod i,

() @imb (2) 2 sugrs @agr
(3) smevaT (@) Soufl

R L_mns Suré sbue Paped pLis
@b
() Qzstremsur

) oewu

2) sosgHT
(8) Qurisesmyit

Usigsur srsiTy SjempSsULL L st
() PP oyemuée

@ Qg iemwée

@) 2-srgimp Semwsa

@ Syzio geu&st.

wirmenLw sragde ulLwég gL i (1813)
yasr wasild Piysiu@ssiutLg) ?
() sumystr Camshuigiisio 19y

(2) amyedr sumellsiv

@) umigafls Cameipmisi

(4) &1 st Cogt.

uruuT-QursEsesTenT Frafsi
sremTiuC L. oy Omi& swbeuef)

() Slbg (2) med

® Boocl]myjﬁ) 4 SRS

Sjwewr wster_e LUlHEG TOSGISST B
() umsd (2 Garglemio

@) sm (4) Gpe

B Qe saflsr Caumse Ijmaramiude
ClegussiL@ILD wempullser Qi

() smeveumi Fiiurssmd

2 Gem_@® Briiuresema

(3) Qzefliumstr urssmd

(@) smuwé sYHEl urgemd

Ggullemev susmré Cgemauwmenr syma]
Qautiuflsme
(1) 24°C
(3)21°C

(2) 30°C
4) 21°-30°C
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The year in which the fort St. George
was build.

(1) AD 1639 (2) AD 1640

(3) AD 1668 (4) AD 1669

The Chief architect who built TajMahal
(1) Kurrum (2) Ustad Isha

(3) Khalsa (4) Farid

The place where ° Black hole tragedy
was happened.
(1) Chennai
(3) Mumbai

(2) Calcutta
(4) Bangalore.

Who was called as ‘Peshwa’
(1) Finance Minister

(2) Army Minister

(3) Home Minister

(4) Prime Minister

In whose period the charted Act 1813
introduced?

(1) Warran Hastings

(2) Corn Wallis

(3) Marques of Hastings

(4) Sir John Shorer

Harappa and Mohenjo-Daro civilization
was seen in River Valley

(1) Indus (2) Nile

(3) Euphrates (4) Ganga

Which one is example of Tropical crop?
(1) Cotton (2) Wheat

(3) Carrot (4) Rice

Which process is used the water is
delivered near the root zone of plants
(1) Ditch Irrigation

(2) Drip Irrigation

(3) Sprinkler Irrigation

(4) Central pivot Irrigation

Tea requires an average Temperature is

(1) 24°C
(3) 21°C

(2) 30°C
4) 21°-30°C



164. Qzmiipymn_dlew sHuBSS srAGLITHeT
(1) sTetor Glemamil @) @by

@ InE (@) Bevsail

165. &owred FMGLILSES SPSSTEMILD

& yisafley sTg sflwssn

() 30°C -6 @mpaursr G LQaILRm
(2) 150 Q&..5 GLosumeer LoemipiLisTeY

(3) susmtrL6b LosuET GFHM @)L LD

@) 30°C -8 gPs QauiBme

166. Qumgiaums &(mLbY eueT(HLD 2 WD

(M 1.5 L (@ 2.5 5 Lrt

(3 3.5 18 Lit (@ 4.5 B

167. wa50gmflsd smmrg Ggmfld

() srpg GQurgperasT Gwmilgge

(2) umis Setrgyig v

(3) umemenr GaiigeD

(4) eyprailsd LoD LIIUL ML SIS
Qgmfleoesr.

smHprame s LIWSTUGSSILD SetorLLh

() quevdHCrsdlur  (2) uAfssT
(3) gComiur (@) gy,

168.

169. Smmiesd srAlGlurmensT 9fHsarai
LwsirLGSGILD BT
(1) seorL_m

(3) sgseugiTsir

() puiLflwir
(4) Sipwstreiy
170. “Nemmii_sor” sTsoriLBLD Lisoflstr 2_sworey
QugpLoerafish HewL_&@Ld @)L Lb

() san_SH_ 6

(2) sewn_&&fley

) Qe

(4) CQuqprisLs @

“spmieumsiy’ eTaUTLILIEHD LIQLDGILICHLD Los&eiT
SMETULHILD @) 1b

() e 2 sipsLwomstr FSGasmmt
®@) s (4) gGrmium

171.
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The fuel that launched the Industrial
revolution is
(1) Oil

(3) Firewood

(2) Iron
(4) Coal

Which one is incorrect with respect to
the condition for the growth of Jute.

(1) Temperature falls below 30°C

(2) Higher than 150cm rainfall

(3) Alluvial soil is ideal for the
cultivation of Jute.

(4) Higher than 30°C Temperature

Generally height of the sugarcane

1)1.5m 2)25m
3)35m “4)45m
Which one of the following is not a
cottage Industry?

(1) Stationary Items prepared

(2) Mat weaving

(3) Pottery

(4) bamboo, cane products.

A major user of wind energy in the
world is

(1) Australia
(3) Europe

(2) Africa
(4) Asia

Which country is the largest user of
nuclear power
(1) Canada

(3) Kazakistan

(2) Nambia
(4) France

The place in which abundant food for
fish in the form of plankton available is
(1) Continental shelves

(2) Continental slope

(3) Deep sea

(4) Trencher

In which place Jaravas of Tribal Groups
of People living

(1) Canada (2) Andaman and Nicobar
(3) Africa  (4) Europe



172.

173.

174.

175.

176.

177.

SipfiaflusSer srg)

() sz (@) ursemeroL

Q) flevsef (4) CuseranLL
sTGLTEs6iT seuflold stg;) ?

() Camflwid (P RTE AT T )
() smpGm” (@) Qawy

@omfl oy CuemLuflsh Gk se

umflekisamrs A&ssOu L 2, 697(H)

(1) 1986 (2) 1976
(3) 1996 (4) 1956
gflwrer QuTrmSsin
i) ey o - A) rsdsvamt
S, 60WILD
ii) &Eremes - B) #m&seu
iii) &mEpFymbd - C) &wemwrt
Gamuilsh
iv) &mEGzmb - D) omsers
[BTSIT
GCamuflsh
D)i-C, ii-A, iii — D, iv-B
()i-A, ii-D, {ii-B, iv_C
(®)i-C, ii-B, iii-A, iv-D
@i-4A, ii-C, iii — B, iv-D

sflurssr QUIEESsSme Gty Qs

i) @rmomuswnh - A) Casdlpmi

i) ereflgrar - B) &m@Hseb

iii) L&STUMTSLD - O olurs

_ (psofleurt

iv) Gufluyyremnd - D) oursfd
(i-D, ii-C, iii-A, iv_B
2)i-C, ii-D, iii — A, iv-B
3)i-B, ii—A, iii — D, iv-C
4i-D, ii—B, iii— C, iv—A

Y56 PEeTET® S ih yfefdaiu L
Sy

(1) 1945 - 1950
(3) 1956 — 1961

(2) 1951 - 1956
(4) 1947 - 1952
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The ore of aluminium is
(2) Bauxite
(4) Magnatite

(1) Sulphar
(3) Coal

The mineral fuel is

(1) Thorium
(3) Nitrate

(2) Asbestos
(4) Copper

India was divided in to state based on

languages
(1) 1986
(3) 1996

(2) 1976
(4) 1956

The correct Match is

i) Mount Abu - A
ii) Tanjore - B)
iii) Kancheepuram - (8))
iv) Santhome - D)
1)i-C, ii—A, ii-D,
(@i-A, ii-D, iii-B,
d)i-C, ii-B, iii-A,
4i-A, ii-C, iii-B,
The Correct Math is
i) The - A
Ramayana
ii) Kalidasa - B)
iii) Maha - 0
bharathan
iv) Periya - D)
puranam
1)i-D, ii—-C, iii-A,
@i-C, ii-D, iii-A,
(3)i-B, ii-A, iii-D,
4i-D, ii-B, iii-C,

Prahades
warar
Temple
Church
Jainism
Kailasanath
Temple

iv—-B
iv-C
iv-D
iv-D

Sekkizhar

Sakunthalam
Vedavyasa

Valmiki

iv-B
iv—-B
iv-C
iv-A

The first five year plan introduced in the

year
(1) 1945 - 1950
(3) 1956 - 1961

(2) 1951 - 1956
(4) 1947 - 1952



178. Qarssigsmw (e wrHBfiLemss

179.

180.

ArsLor
1) oud. @bHm sMbSH
2) S gouaniwme CH®
3) . sumspumis
4) (. Hrbioney
\fa&& sfiwmer QUITHSSL
i) soLuvmes - A)
SLL1D
i) Gopisu_s - B)
SHO i6Tey
iii) Gz oals - C)
QarsTens
iv) SaTaIBSEGL - D)
sevall
1)i-C ii-B, iii—-A,
(2)i-B, ii—-C, iii—A,
(3)i-D, ii—A, iii-B,
@)i-D, ii-A, iii-C,
gflwmer QUITHSSLD
i) @pr.eemu - A)
SioSSIULL
T lC
i) @Bg algma: - B)
LOQILO6TOT &
gLLID
iii) surglsemewr - C)
SeoL LD
iv) GuettrasmsT - D)
Caedl
(AFHDT ]
B5[H&s F L1
(1)i-C, ii-D, ii-B,
2i-D, ii-C, ii-B,
3)i-B, #-C, li—-A,
4i-B, ii-D, ii-GC
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1991
1986
2002
1992
iv-D
iv—-D

iv-C
iv-B

1997

1961

1945

1856

iv-A
iv-A
iv-D
iv-A
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1991

1986

2002

1992

iv—
iv—
iv -

wOoo

1997

1961

1945

1856
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178. The name of the Prime Minister who
abolished the bonded labour is
1) Mrs. Indira Gandhi
2) Thiru.Jawaharlal Nehru
3) Thiru. A.P.Vajpayee
4) Thiru. Narasimah Rao
179. The correct March is
i) BlackBoard - A)
Operation
ii) Minimum - B)
Level of
Learning
iii) National - 0O
Educational
Policy
iv) Educationte - D)
all
‘(1)i-C ii-B, iii-A,
(2)i-B, ii—-C, iii-A,
3)i-D, ii-A, iii-B,
4)i-D, ii-4, ii-GC
180. The Correct Match is
i) UNO was - A)
established
on
ii) Hindu widow - B)
remarriage
Act
iii)j The Dowry - C)
prohibition
Act
iv) The Eve - D)
Reasing Law
1i-C, ii-D, iii-B,
2)i-D, ii-C, iii—-B,
3)i-B, ii—-C, iii-A,
4)i-B, ii-D, ii-C,

“rme—



